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The table given below shows the information of books 1n different

library.
i &1 778 qTietehT folfW=T Tedehictdl H TEdehl shi ST fe@Td! 2

LIBRARY RATIO OF MATHS | DIFFERENCE

AND PHYSICS BETWEEN MATHS
BOOKS AND PHYSICS
BOOKS
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Question 1- Find the sum of Maths books in B and C and the Physics books in

D.
T4 1- B 3T C H 70T 3hT T&shi 3 D H wHcishl 3hT T&shi T ANT 1 shifSIy

A.7214

B.7014

C. 6844

D.5676
LENone of these
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Question 2- Find the sum of digit of average number of Maths books in A and
B

T 2- A B H TV ohl TEehl shl STEd G&T o Fehi T ANT 1 shI 9]

A.l
B.3
C.2

D.4
(_E-None of these
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Question 3- If the ratio of old and new physics books in E 1s 6:11. Then find

new Physics books in E.

H%T/B-aﬁEﬁE'{]ﬁﬁ'{:lé‘*ﬁﬁﬁgw%\i T STATT 6:11 8 T E | 3 Hifcish!
RISEXCIE]

A.1244
_B_1144
C. 1044

D.944
E. None of these
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Question 4- If the dirrerence between the maths books in D and E is 4y. Find

vVa,+ 1 {@

T54- ¢ D 7R E H 7T skl TEdeni o sl ST 4y B

) T Shiter

A.12
B. 14
C.16

P18

E. None of these
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Question 5- If one books 1s drawn from library B, then find probability of

getting a maths book.
T 5- Al Toh &k Teqehierd B | ot 715 8, a1 70T 3ht T&cish ITH 3 ohl TTTIehd]

a0 SIS 5- ITS Teh Tdoh TEdehTdd B 8 &t 718 8, dl {0 shl Y&deh JTH ohid
ST TRIehdT T <hifsi|

A.1/20

B. 3/20
9720

D.7/20

E. None of these
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Question 6- Two containers P and Q each contains 1200 liter of water and 1200
liter of milk. 300 liter of water is taken from P and added to Q. Again 300 liter of

mixture has been taken from Q and added to P. Find the ratio of remaining water

in P and the remaining milk in Q.

T 6- &1 I P A Q Hedeh W 1200 w1 qrHt 3R 1200 et g8 21 P H 300 et it

foram STar 8 o7 Q ° o St 21 foh & Q & 300 ofiet feor fern e st p o

o T P o 919 a3 Q | I g4 T T F1d hifsrl

A.2:1
30 B.1:3

D.3:4
E. None of these
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2
w Question 7- 45% of 00— 30% of 420 =(?% of 750)- 2163
2

\0p T 7- 500 T 45% — 420 T 30% = 750 FT1 2% - 2163

. 24
. 18
. 34
. 44

. None of these
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5 6
Question 8- 38 - 55 + 96 of 1524 0of 90 F ?
5 6

35 - 5§+ 15ah1 9690 ahT 24 =?

A. 5/3
B. 2/3
\C— 4/3
D. 1/3
E. None of these
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Question 9- Find the compound interest on a sum of Rs 60 OOﬁ

CIQ%; Al 56‘/ at 16% per annum for 2 years.
"W 9- 60,000 TR ST TOT T 2 AN K A 16% Wi s A

o o\ N
Tondlg o<l Jld SIS Y

(T.= 34 567 aétGoooo VW%—J%HIM Rs 20736

00 B. Rs30736

= SH56x(¢ :'6+|6+(6X(g C. Rs40736

= Q013 \ [0¢, D. Rs50736
$«—ﬁ 85\)* é? S¢ E. None of these

= 4.5y,
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Question 10- With a given rate of simple interest the ratio of principal and amount

1s 2:3) After three years with same rate of interest this ratio becomes 5:9. Find the

rate of interest per annum.
7 10- FTEROT TS 2T & TS &L o |1e g ST TR T ST 2: 3 1 FHH 31 X

o T 1 91 o SI1€ I8 STUTT 5: 9 BT STl 21 Fieh oY SATST ohl T T shifsl

A.20%
B710%

C.15%

D.25%

E. None of these
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Question 11- 2@9 + 18

=
\

. P>q
. P<q
. P=q
. P=q
_E~P=q or relation cant be
established/P= q IT Gl¥T

TTiUd &t foRaT ST Gehal
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Question 12- p2-11p +28 =0

O p(+7 )+L1) q - 34096

A. P>q

1=( He ) _B- P<q
</P<c]'

E. P=q or relation cant be
established/P= q IT Gl¥T
TS AT TohaT ST Hehdl
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Question 13- A man invested Rs y and Rs y + 4000 at 10% per annum

and 20% per annum compound interest respectively for 2 years. If the

total interest received 1s Rs 5660 then find value of y.

T 13- Teh i<k o 2 I oh foTd SHHIT: 10% i a¥ 3R 20% TN
wTshdllg SATS <l T H y AN y + 4000 &7 kT (a3 feham| fe Im6 et =T

5660 T &, Tl y T Hed J1d hifor| A Rs 4000

Home Wark

. Rs 5000
. Rs 6000
. Rs 7000

. None of these
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Question 14- Two dice are thrown simultaneously. Find the probablhty

of getting same number on both dice.
T 14- ST YTE ek 919 Uk ST 2| ST 918 9L 9T AT 979 i hi
STRIhdT JTd ShiTSTq|

A. 1/3
B. 2/3
C. 1/6
D. 5/6
E. None of these

https://t.me/mathbytarunsirmepl



-l
\
A

MISSION BANK-2024 5 25x === (jj

V7,
{
Ul
&

https://t.me/mathbytarunsirmepl



-
\
A

MISSION BANK-2024 5 25x === (jj

V7,
{
Ul
&

https://t.me/mathbytarunsirmepl



-
\
A

MISSION BANK-2024 5 25x === (jj

V7,
{
Ul
&

https://t.me/mathbytarunsirmepl



Join my
TELEGRAM GROUP
.. @MathbyTarunsir

Daily PDF of all YT sessions
Discussion / Doubt Solving
@ Direct Interaction with me
Quiz
O Polis




https://t.me/mathbytarunsirmepl



